Efficiency vs P,

+~0.07
> : : :
£0.009F-----rreirrrenenenns [RRRREEREREEE ARREERLEELEE
- : : :

o E . . .
L e S e
B0.007F -+ eeevieeeeeens e R
(] r . .

0008 -+ wreiereeeeees SRR TR

0.005:—----}-----: ------------ e e
0.004fF -7+ fromen SRS e

°'°°3§"""*ﬂ@:::::::::::§;::::::::::::§::::::::::::

0.002:—---+---
0.001
.0

Ratio

iy

[
H
AR AR RRRRN LAY

o
W

o
= S
O@
N
IRy

0 18 el

—ehoC

11111

Icw A%ESEO..Q{WW. +6p0evt
ﬁs %%igﬁ 1RO TLIERS 1000evt
=0.02,

e e e e
BO1GE e

g B - ; - ;

D014 oot ooty SREE

= E : : : :

B.012F gt oo
0.0TF -+ oo feeees
0.008F- -+ fff-f oot oo

O B SIS AIH 1 SR
0.004F ; ; '

0002:+H ....... + ......

10

Ratio

1.

i

e

|
N

|
=
=
N
w

[oV] LR RN R R

Efficiency vs @

= 0.0] :
©.009F
> .
©.008F

o
o
o
N

| RN RAR

O




	Contents
	Page 1


